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Lesson 13  Discriminants

In the quadratic formula, what goes on underneath the radical sign indicates what kind of roots, or what the nature of the
solutions will be. The solutions fall into three categories; real and rational (3, 1/4, .75), imaginary (4 + 7i, 3i), or real and

irrational (-\f2_ ).

The key part of the quadratic formula which helps us discriminate what kind of roots we have is B2 - 4AC, which is under
the radical sign. If this a negative number, for example, then the solution will obviously be imaginary because you are asked
to find the square root of a negative number. In the examples below, keep an eye on the B2 - 4AC and how it affects the

final solution. By the way, this key part of the quadratic formula, for its ability to discriminate the type of root, is called the
discriminant.

2
Example 1 X2+7X+10=0 X;Bi\ﬁ?—%c:—?iw/(?) ~41.10
2A 24

A=1,B=7,&C=10

x_7E4A9-40 -7+4f _-7+3 -7-3

" 2 2 2 2

-10
X = ,T——Z,—S

B2 - 4AC =9 in this example, and the roots (-2 & -5) are real and rational. A rational number is a number that can be

expressed as a ratio or fraction. Notice that 9 is a perfect square. If the discriminant is a perfect square, then your roots will
be real, not imaginary.

Example2  X2+3X-3=0 )(:43i\‘5;2“4‘\0:“(3)4—r (3)2-4.1.(-3)
2A 24
A=1,B=3,&C='3
x BEAP+12 _ B3+4PT_-3+4PT —3-4P21
2 -2 2 A B

B 2- 4AC = 21 in this example, and the roots are real and irrational. An irrational number, the square root of 21 in this
example, cannot be expressed as a ratio or a fraction, but it is real.

2
Example 3 X2-10X +25=0 x:'BiEE -4AC

2A
A=1,B=-10,&C=25

2
« —(—10)i-J(—2101) —4.1-25 :101,[1‘20—_100 = [l

B2- 4AC = 0 in this example. The roots are real and rational, and they are equal. If this polynomial, which is a perfect
square, had been factored, there would have been two identical solutions (5). This is called a double root. When the
discriminant is 0, you can expect a double root.

X2-10X +25=0
(X-5)(X-5) = 0

X-5=0 X-5=0
X=5 X=5




Example4  X2-5X+8=0

A=1,B=-5&C=8 . =—Bi3E2—4AC

2A

w Bt (-5)° 418

21
X = 54_-325—32

2

X 5147 5+iaf7 0r5—i-‘[7_
Tr R 2 2

B2 - 4AC = -7 in this example, and the roots are imaginary since they include an "i".

In summary:

1) If the discriminant is a perfect square, the roots are: Real, Rational, & Unequal.

2) If the discriminant is positive, >0, and not a perfect square, the roots are: Real, Irrational, & Unequal.
3) If the discriminant is equal to 0, the roots are: Real, Rational, & Equal; a Double Root.

4) If the discriminant is negative, <0, the roots are: Imaginary.

Practice Problems Predict the nature of the solutions, then solve to find the exact roots.

Factor when possible.
1) 5X2 +2X = 2X + 45 3) X2=2X-5 5) 2X2=X+3

2) X2+16=-8X 4) X2 -2/3X = 4/3
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LESSON PRACTICE

Tell the nature of each solution by using the discriminant, and then solve to find the exact roots.
Factor when possible.

1. X2+6X+9=0

2. 2X%4+7X+3=0

3. -2X°+3X+6=0
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LESSON PRACTICE 13A

4. 3X222X+5=0

5. 7x2-3X =20
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SYSTEMATIC REVIEW

Answer the questions.

1. Tell the nature of the solution to 3X2 + 7X + 2 = 0 using the discriminant.

2. Solve to find the exact root(s) of #1. Factor when possible.

3. Tell the nature of the solution to 2X% - 5X + 4 = 0 using the discriminant.

4. Solve to find the exact root(s) of #3. Factor when possible.

5. Tell the nature of the solution to 4X% - 2X + 9 = 0 using the discriminant.

6. Solve to find the exact root(s) of #5. Factor when possible.

7. Tell the nature of the solution to 2X% - 4X - 7 = 0 using the discriminant.

8. Solve to find the exact root(s) of #7. Factor when possible.

Find the roots using the quadratic formula.

9. 2x2+6X=3 10. 5X2 + 4 = 8X
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SYSTEMATIC REVIEW 13E

Solve for X. Complete the square if necessary.

1. 3X% 8% 0 12. Check the answers to #11 by placing them
in the original equation.

13. Expand (X + 2A)5.

14. What is the sixth term of (X - 4)6?

15. EXpand (2X - A)3.

16. Find the cube root of 8X3 + 36X2Y + 54XY2 + 27Y3.

Simplify.

10-vAX . 10++vAX 2 1
17. 2 2 18. 2X°-—

Solve and check the solution.

6X-5 2X-7
19. X+3- _
* 2 6

Multiply.

20. (A + Bi)(A - Bi)
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